AZU: Avkkwmeie Sequences Worksheet

13\ Aritmetic Sequences

SQS&DJ‘::_HEI ordered list of +erms’ has a paH'ern. &

Bxaes o SIS ol - RU gl 32,(«»4

Rr'Wmeh_c_S_eren,_ei*A\waqs adds or sub’rmc.+.s £

‘Hfte. same. number called e common_difference “d”

1"\ Determine H\e \)a‘ue, of the common

Adifference ;d, and €ind the next 3 terms.

Q) s ipelion S -6 4ol

Dl Mo 8y o il e 34 . =S

Se m&dﬁi& The way We. wr'fe/mpreserﬂ'

__O_S.gquem_g,_USIng variables and exXpPressions -

\>" humber 1n the sequence.

= i number in the sequence.

o= 3“‘* number in the sequence

o
o

Q- —(n-L\ huﬁbt;r _-m .*’W; 524{-3)%06

B> 0" wumber in Hhe sequence.

Qpry =) puwber in He Seguences

Ex 7 ) { \1_ A in the Seq“emge:i\_l\lllsl5—181'3-
Qg = 3| because. 8 is te (™ term in the Sequence..

Expliat Formula for an Arithwmetic Sequence.

Gives Jf\r\a value. of any Yern by plugging into the formula 3

Qn-—a.-\—(n—!)d .

Ex¥:

\‘W\-ck IS Qn-= 3"'(“")4 it
Ozoe ¢

—7,3-\-0 k]




REULVSNQFOM.L\Q ‘Egr an Ardmetic Sgg vence

MUCH more annoying_to werk with » Gives e value

of the vext term f)\.l using Hee term(s) before i+ ~
@h=10h- ) td ity Q, == <

ErmS Given the. recursive formula. is

On:ah—i_ 2] with a,=-14 ; what ave

Q‘Z-'] Qﬁ', Q.V\d ago?

50 A ] - sl @z=-7

A5=0g,+7] = Oy + | — but we don't know ay "

N

QL{:Q‘_|+1:Q3+_’—9 doﬁ*quﬁ A

Ay=Ag4 1 =@y + 1 = 460

wochoo '\ nows go backwords

A =&zt = Ot ==

dszaut1=T+1= 8 [gacid]

Aio = Qg +1 = 42A1=] &,
Og=Aq+] = 18+ 1=5

0q=0pt]  =UN=Bg
0p=As+7 = Mnﬁzz 217

Ex*( Nr‘\\'e,*’\r\oz_[msiyo,?onmm fgr lQ,(g,?. -2,-(0,. ..
01710 onmd d=-Y 50 [an=0n, -4




